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Londf eflenggireir 2019- 2020 / Model q uestion paper 201 :r
Liggmid aiglin) - X STD
&euuflgLh - MATHEMATICS
(<2mflovrd Lopmd gpidlp [ English & Tamil Version)
&TeuLd ey 2 15 [Dif_id + 3 toewsh)
Time allowed : 15 mins + 3 hrs ot . ’
Instructions : (1) Check the question paper for fairness of printing. If there is any lack 0  8
inform the Hall Supervisor immediately. . | :
(2) Use Blue or Black ink to write and underline and pencil to draw diag am
iy : (1) Sweardg olands@pd s adars uhand) 2 crengn
SN} 5,5 4:CBM6TGTGLD- oidaliudaled  @emuilmL et
[ o 1 quiguwins Qsflafldsa)Lb.

Lo 16N 16
Maximum Mark

oIl Ten L 3
(2) Bouid rcbvgy S LIS Lol (hGLo m(f_,pg;lfm.éf;m@ "_
Cangpaugn@d LWGTLI(HSS Gouagm(pLd.  LILMISET  QIGHI
OletTHed Liwsch1LI(hSSYLD.
Note : This question paper contains _four parts.
GO : @aiedeandsne mraE LGSsmand GBI S).
L@ -1/ PART-I
(Lo 16 seva a6 : 14) / ( Marks :14)

GOy : (1) @udflafed o eirer 14 aflanns@nd@Lb aflenL weilbHaLD. __
(2) Qan(hsstn’ Bearen mra@ wipm dLsafld) WsaD il
deLaws Caikolsbhds @GO (e aloLulemenyd GFl
T (LPSH@YLD. |
Note : (1) Anwer all the 14 questions 14x1 j,

(2) Choose the correct answer from the given four alternatives and write the op
code and the corresponding answer, :

1. {(a.8),(6,0)} %ewg @@ swald sniy aafleh, a whmid b whiysenna
papGu

(a) (8,6) (b) (8,8) () (6,8) C(d)(6,6) |
If {(a,8),_( 6,)} represents an identity function, then the value of a and b are respectively
(a) (8.6) () (89) ©@68 @) (6,6)
2. 7%= (LDI_'@ 100)
(a) | b) 2
7% = ((mld 100) 3 Jh
(a) I o (b) 2 (c)3 (d) 4
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1. apadiy  wonpflaafled  ieindg  apsiim) Griflued  Fiosi n(yaseflsst  Qamnen N,
Srrayaeit @evencueluiesled, HdhGs@I N6 o ciran HeNhiH6i |
() @1 &pm yaraflufed Caur’ (b (b) ep(m Gannt’1g6v Qe (htb.

() epadrfladr 1hgy epadim) Qincmhgnn  (d) apadImmONLITESI I Glau " 1113

A system of three lincar equations in three variables is inconsistent if their plancs
(a) intersect only at a point (b) intersect in a line
(¢) coincides with each other (d) do not intersect
4. Qan(hdatiu’ L L ghed £BAC=90" oppd AD L BC 676116V /\‘
(a) BD.CD = BC? (b) AB.AC = BC’
(¢) BD.CD = AD? (d) AB.AC = AD" ‘
In the adjacent figure #B4C=90" and AD 1 BC 0 %
ZBAC=90"andAD 1 BC then |
(a) BD.CD = BC* (b) AB.AC = BC®
(c) BD.CD = AD? (d) AB.AC = AD’
5. x=11 erewd Qan(hadasriu L GriGsL 16t FLOGTLITL TS
(a) X' Hd5:4@ Qe (b) ¥ - 21555 Bavewr
(©) adiycraf anfd Qedgus  (d) (0,11) erait Ljeirar] quifl GFegLd
The straight line given by the equation x=11 is .
(a) parallel to X axis (b) parallel to ¥ axis .
(c) passing through the origin (d) passing through the point (0,11)
4 2 2 ) . _ .
6. (sina +cosecar) +(cosa+seca) =k+ tan’ & + cot’ & eTevfled k -6t Lol
(2)9 (b) 7 (©)5 ()3
If (sina +cos eccr)2 +(cosa +sec Ot)2 — k +tan® o + cot’ & then the value of Kis
equal to
(a)9 (b)7 (c)5 (d)3

7. @I 2 (HemenuSIel H4JLb S1g6T 2 WIHFeL epailed e LIS cTaufle  1ehT GLoTSSLI
LymLILIgLIL

9

e

(@) 2l F VS5, (b) 247h* F IV GHBET
9 h2

“~

FAVGHEGT (d) F AVGHGIT

87
(c)
The total surface area of a cylinder whose radius is 3- of its height is

V(2 - 2 ;
(a) ——sq. units (b) 24rh” sq. units

. 567h’
4 sq.units (d)

sq.units

2
L
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8.

10.

11.

12

13,

L] . » . ?
O1(h 5L 1L L evausaileh 675 SAUDTENIS) !

(a) P(4)>] () 0< P(A) <1
(©) P(¢)=0 @ P(A)+P(4)=
Which of the following is incorrect?
(@) P(A4)>1 (b) 0< P(4)<1
() P(4)=0 @) P(A4)+P(4)=1
—=3,-3,-3,...... eTelTLIg) eTSFM&W QHTL [T auflans?
(a) Rl BSOBTLYF arflens (b) OLimeGS OSTLIT auiflens
(c) Cromaassr @pessi(hLb Si6bev (d) L (BSOSTL T LoHMILD QLB SSO\BTL
The sequence -3,-3,-3,...... is
(a) an A.P only (b) a G.P only
(¢) neither A.P nor G.P (d) both A.P and G.P
x*—a® whpis (x~a)’ @i B
@ (¥’ -a’)(x+a) (b) (x3-a3')(x—q)2
(c) (x—a)z(x2+ax+a2) (d) (x+a)2(x2+ax+a2)
The LCM of x’ —a’ and (x—a)2 is /
' <o,
o (2 )+ o (0=)(x-a]
(c) (x—a)z(x2+ax+a2) (@ (x+a)2(x2+ax+a2)

n(A)=p, n(B) - q e1aileb A ommid £ @ @evr Gus Sl d@Lb GLongs o naysefsr
GTGUSTGusT) e

(a) 2’ (b) 2/ " (ey2rte 27

If n(4)=p, n(B) = ¢ then the total number of relations that exist between A and Bis

() 2° (b) 2° (c) 27" (d) 2~

65 Lommitd 117 Sfweupilesr LBGLIT.cu-avar 65m — 1 17 616810 @uigafilsh 61(LpgLh Gungy
m-GhT Loy

(2) 4 (b) 2 (©) 1 (d)3

If the HCF of 65 and 117 is expressible in the form of 65m—117 » then the value of m is

(a) 4 (b) 2 ()1 (d)3

FINE el kg AL TR T ANY) SIQUILIGTORNSGH®LIL  eflevdaiiseafle
I (hpeven g,

(@) STLOLINLpGILD LB a; 6T adst (b) STLIGILIM(LpILD &M GT6TsT

(©) yFEHuwin

(@) i wpapdasr
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The sum of all deviations of the data from its mean is

(a) always positive  (b) always negative (c) zero ' (d) non-zcro integer
14. FDDSHCGSHIGILD LODDILD BDdad:Gsnesmmisanen Hamal(hLd &(Hal

() HBunL e’ (b) BeveoLMEBHTL

(c) ClshuGamLy (d) QzrearaCpiddl

The angle of clevation and depression are usually measured by a device called

(a) Theodolite (b) kaleidoscope  (¢) Periscope (d) Telescope

Lig#- 11/ PART -1I
(FI Gicsser : 24) / ( Marks : 24) |
10 eflewrdis@md@, aflenL welds. aflen eratsr 28 -&i@ SLLMWLOTS aNeoL wefldsayLp
Answer any 10 questions. Question no. 28 is compulsory. 10x2=20
15. @(® BUALLD 532 LbCs1L 1986 2 drener. St auflendd@ 21 LLBOISTL 56T NET
(b5 b, cidsda anfloFadr LppaELD LMD T LommI
GTHBHMGT L HOBTL L9 &G LEBLO HI:SLD 6TGIGYLD HIT6HT &

A man has 532 tlower pots. He wants to arrange them in rows such that each row ?Ontmns 2
flower pots. Find the number of completed rows and how many flower pots arc left over.

16. SFdas: x* —13x"+42=0 _
Solve : x* —13x* +42=0 ‘ |
7 iewf] A-udlett eurfleng pX g LODMILD 16w B —uflesr aufleang g X r . @(m il Fenanu i

. . B : ; [°x v
QLB LpLyuLb 6T6sil6h AB LoDMLD BA AEuweuDetT cuflenFaniLid H1eysis. i

If A is of order pX¢g and B is of order ¢ X7, what is the order of AB and BA?
JB [ aep  2paunais f(x)=x"=2 e aonupssiLGEDs. G

xe{—z,—l,o,?y} cTewd  GanewrLmey (i) f-6tr o i ysenents UL GO\

(ii) f~emG SO FTITSLOT |
A relation f is defined by /(%)= x* —2 where X€ {-2,—1,0,3} (7) List the clement-
of / (i)ls [/ a function? ’Y - s D 1_)/(:__; ik Co, -2) (1,’7)

”

s
\\
S : 1

'19. APST ~APQR e7at HID/@} . %4
Show that A PST ~APQR i t_— "

0 N

=y

i o

20. e G&mLyILD SN HGF CFhIGSH15 o TG . Ga;nugcj,ggﬁy é'm’“@éwafﬂ@%‘df
gaquilsy 488 Gsraeaisy sarer @@ Uerellelmhg Ganyn o4 i
FHmaBETewILD 30° GT6M1IGV. G&nunﬁ@s&r O WITEMSS: HTCTH,

A tower stands vertically on the ground. From a point on the ground, which is 48:.1.1 awas
from the foot of the tower, the angle of clevation of the top of the tower is 30", Find the

IRV
P

height of the tower.
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21

o P(A)=-§-,P(B)=

23

24,

25,

28,

S BBIQILLE S9N &ew Senay 11088 500340 b, FntbtTsd 2 uimb 24 Qay
61636h, HIFeH HTID ST 5.

The volume of a solid right circular cone is 11088 cm’. If its height 1s 24 ¢cm then fing |
radius of the cone.

sohpns P(AUB) = % aaish. P(AN B)@d snadns

o

1

- a8
- then find P( AN B) /S

S.P(/'U3)=

i P(A)=§.P(B) ;

A= {m.n} wohpid B =@ e1afleh () Ax B whpnd (i) Ax A 1.':;.3'1:-1; e
Find A B and A% A for Az{m.n}:ﬂ =0 '? 'B ) é{ﬁ’m) ol ;ﬁ,;),\

DAL 2T 183 a1681m aa . (hd Cavni_rranflanaudsst 5n o pi'n puanen b arein a.
Find the middlc term(s) of an AP 9,15.21,27...... ... 183,

@rogellsy gpunengur anufsst o Adan(y spsrand gl gearsh Aoy
@onelss @oem_nau(haer @ aphangis auurangan saudlelr 4 eIsu(hsarnd a’
(Shevpw auuengund Qumdad Heor rnandad s sresdab, owrPsdr w0 30 mu
QDG T &N1680 &,

The product of kumaran's age (in years) two years ago and his age four years from now is
one more than twice his present age. What 1s his present age?

(-4.3) astip yerafufsir anf) Grcbausni 3 B FNLIGNTE D GHL UL

CnidGam’igeh sroadiun el d anadsa. 77 '*S‘J o
7

Find the equation of a line passing through the point (4,3} and having slope e

20 goeyls yeiredlasin Qan(hdalrnn’s aland s Hlcaladain N6 sy,
@alauny oy yeiteiupd 3 e Quindatnn’Lnd D demtb. g
ysaflaatiehr £’ afed st toHynd efsvd.s auidad sannadl aneina.

The standard deviation of 20 observations is \/6 It each observation is multiplied by 3, find
the standard deviation and variance of the resulting observations. _."jfh fL[
7

-

S0 Bpeann 25 Cumdaaich Qsyamar m HL L g apash Qamelsh |
Qeguun. @ratwenaugy Camaled 3 Qauguub. apsimiauzy Camalish 9 CFtgupl m-
Py ey Qs st gy. BarSauavev Bavnauent ws 614.5ameu C\r1g asir Czaman?

An organization plans to plant saplings in 25 streets in a town in such a way that one saphng

for the first street, three for the second, nine for the third and so on. How many saplings ar¢
needed to complete the work?
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( UGS 111 / PART - 11
LS IG L sGdwasai : 50) / ( Marks : 50)

10 IIGHTTS:E(Eh%:@; af) :
Answer any 10 ? .@meﬂa;s_ GAIGUTIT GTGHaT 42 -dh@y L L MUILDTS afledLWGTIGESaLD
. questions. Question no. 42 is compulsoty. © 10x5=50
. LIrT Gy ; . ,
y(F) e G) &l G cblusentlay (C) o 6ren QauriLifleeaiLd, LIMTIGTBL 1G6D
2 _GITe ' :
ULl D Bavedan s, Gogud g 1(C)=F eram

QUTWMISHLILIL L [T6D, (@5’@, F=%C+32) 60 I(O) (if) I(C)=212 A5

Bwd&06ung C a1 iy (i) Qeevdwsiv ol LmgeaubLl LoD
FLoLo1 S B(b@ LD QLimpgy Qe iLflee AFWeUHE®DS HTGTTS.

The function t which maps temperature in Celsius (C) into teFmperature in Fahrenheit (F) is
9 8. (U
defined by t(C)=there F=§C+32, Find (i) t(O) (ii) the value of C when

! (C) =212 (iii) the temperature when the Celsius value is equal to the Fahrenheit value.

y./@gdsn@ﬂub 10 OF.L8, 11 Q&b 12 OF.B,... 24 QF.L65 6T6dTD LIGS HeTQYeTen 15 &SI
QI QUGTITeRId HTEGhECT 2 cTenas. Qbd aetTed sndshismand Ganes(h
STRIGIGT®) LITLIGDLI DL S HeVkisiflsd (LpLgulLd? hGoo— R85 = INYEY
Rekha has 15 square colour papers of sizes 10cm,] l1cm,12cm,...,24cm. How much area can
be decorated with these colour papers?

| 1 2 (-7 6 :
}A./A= 4 LB G craflb A(B+C)=AB+ AC  aretiiamngs
-1 3 -4 2 3 2

|
iy (:Z ¢ ) -7 12
FLITTSHS i Ao (30 2
Tl i % - T
If A= , B= , C= verify that A(B+C)=AB+AC
=1 3 —4 2 3; 2 L/ /
v GaHnd % s —¢ &
32 lsnansv Gappsos s B o 4) [M s

State and prove Pythagoras theorem.

33, 608 ewgepeTenr  SQVEISD] dendaser 2 FAISIBES BT
#LeuLoL LgHlavarer Qb sLILIGaET (LpenGuw 28° LoHMILD 45° Qné55CsnewisHled
LITF&&SDIT. @6 esﬁ!ueb LoHODIT(MH SUILIVISHELI LIGETEsITeD @G FHlanauiled HeUhIGEEI]
o B S/ BrGHIL 196D o gireng) eTadley, @es(h SLILIGDEEIHSHGLD
QoL GuieiTar OB TEVMaIS BT S (tan 28° =0.5317).

As observed from the top of a 60m high light house from the sea level, the angles of
depression of two ships are 78° and 45°. If one ship is exactly behind the other on the
same side of the light house, find the distance between the two ships (tan 28° = 0.5317).
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34.

35,

36.

37.

38.

39.

. v
2wy 10 OFuS whmnb ey 4.5 Qb 2w R0 G/t ‘g‘@@”‘ﬂ?% ‘.,

2 Bauds 1.5 Oa.u8 el Lptd 2 161 HigLoGH QMBTEHIL 6THS®EN kL Q%J@”W% 'f
Gzenau? | |

Find the number of coins, 1.5cm in diameter and 2mm thick, to be melted to form g righ,
circular cylinder of height 10cm and diameter 4.5 cm

USGLILIS Baialeh Lomemeuiaer GLibp GG seT £8Lp C1BT(hSSILIL (heeny,
ST &6 L CLETSERsES S L alledsLd ST6HTS.

X 4 6 8 10 12
S |7 |3 5 |9 5
The marks scored by the students in a slip test are given below.
X 4 6 8 10 12
J |7 13 5 19 5

Find the standard deviation of their marks.

A e16iiLig) 8 g oL @epeuter @uich ereinaaficr e, B 6TaTLIZ 8 & eilLs
G@Danes LSt  eTa¥useler @ewid opmid C eTedTLg @UenLll Ll Lsn
GTGESTEeIehT Bews1LD 6Taul el AX(B—-C)=(AxB)—(AXC) ereud sflinids.

Let A= The set of all natural numbers less than 8, B = The set of all prime numbers less
than 8, C= The set of all even prime numbers. Verify that AX(B-C)=(AxB)—(4%XC)

S =(x+y)+(x2+;vcy+y2)+(x3 +x2y+xy2+y3)+....n 2 MILILBET
x’ (x" -—1) yz(y" —1)
x-1 y-1

If S, =(x+y)+(x* +xp+ ) +(x* +x*y + +y’)+...n terms,
xz(x"—l)_yz(y" —1)

etasfleh (x— )8, =

then prove that (x — y)S, =

x-1 y-1
1 & L1 L ]
BT : 1 28 e —=—;———1- i= —2—
' 2x 4y 3z 4 x 3y x Sy z 15
1 1 1 1 1 1 1 1
Solve : fr sy — i ——‘—+i=2—2—
2x 4y 3z 4 x 3y x S5y z 15

@I 2 (pewemile 1651 g @@LMW!_& Qoempsany seLomks R Ljcedled
Qonds 2wl 20 OF.Lb. o (mavemulilesr 2 wgid 12 Q\F.f nmib e ip 12 QL.
2GL0. B damLddlet GLopup SILLib 24 OF.L5 eresileh, Lyewelatr QaveiLn’
LiglIenLd: &1 5E(b .

Scanned by CamScanner



A funnel consists of a frustum of 5
at the bottom. If the tota] hej e
diameter of the top of the

ghtb e atte.lched to a cylindrical portion 12 cm long attached
B l: 20cm, dllameter of the cylindrical portion be 12cm and the
e 24cm.Find the outer surface area of the funnel.

CaBOS(BSSLILBE DT jﬁl LD- G.‘Mﬁmﬁ%h' 20 wnm@ﬁ FLoQUTLILIL] LpapLih
- (i) NSS-6b @7@@@ . G_UU (i) NCC —ufleh @ik, 2$emTed NSS-6 @)6veTLOGY
- : , AT NCC-ufley @ebevrioed (iii) eedGD gpatTiled Lo (hLb

G 1ihgl BGLILISDSTET BSOS ER SN S HTGHTS.

Eg ;‘Saf; gfnzoot?tt‘;ientsa:ZS opted for NCC, 28 opted for NSS and 10 opted for both NCC

onted for NCC students is selected at random. Find the probability that (i) the student

. ! but not NSS (ii) The Student opted for NSS but not NCC (iii) the student
opted for exactly one of them. i, 9 \%
25 1 “a57 8%

41. @) WPSCHTISHT QLIIGHD ASHT GSHWTSDSD oL 4 Q&5 2HsLb.
- paBanemddle Lgliene) 48 Fgiy Gs.S erefleh, ST QLSS LODDILD
GSBNITSSIGT SHeTesemend: Hiais. |

The base of a triangle is 4cm longer than its altitude. If the area of the triangle is 48sq.cm,
. then find its base and altitude. -

2. @ WPpSHCHTENSEGT LITUIL] 5 FGIT HVSGSET- (2,1) whpid (3,-2) 2z BB
p@HILI LjeTefl&eiT. y=x+3 e16Tm) GrBi&GHTLL9GH LB%] eLpGATIDTEUS (LpeGLIL{6TE]
SILDBSTE) HHEE S35,

The area of a triangle is 5 sq.units. Two of its vertices are (2,1) and (3,—2). The third
vertex lies on the line y =x+3. Find the third vertex. . '
L@~ IV / PART -1V
(Lpé)il@ucdﬂcsﬁir: 16) / (Marks : 16)
SpSHTEYLD esiTd:aandE e welldsalib.

Answer the following,
Bo) y=x'+x-2 Q& ueyLILLD QUehE Hsa pod x*+x—2=0 eremD

2x8=16

FLOGHTLITL. LG GGV FFdEaLD.
a) Draw the graph of Y= %2 + x—2 and hence use it to solve the equation x2+x-2=0.

(OR) (216b6u)
@) Eids: 2x+y+4z=15 x—2y+3z=13,3x+y—z=2.
b) Solve: 2x+y+4z=15,"x‘—'2y+3z=13, Ix4y—z=2.
| _ )
C-ifeir @bs Lbsiselar olfpb < T
. . - 6
(% augOlUTSS (LpFHCSHTGILD QU] E. (1emey wmyesst] —)

44.)) Qar(hSSLIILL (p&CHTeEIILD AB

SievLoWLOTD &P s
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6
a) Construct a triangle similar to a given triangle ABC with its sides equal 10 —5— of the

corresponding sides of the triangle ABC. ( Scale factor é ).
5

(OR) (216beug/)

2) Cs1(h&sLILL (LpsGsmessitd ABCuI» /B =90°, BC =3Q«.L5 ommyto AB=4 OlF.LH

H@b. AD=106g.8 ereipeunmy ACWesr 1B D eiepup Ljererf] 2 6iTeng). AB -6

eowliyereil E @i, D wppid E @ @emewds CB g F -60 FhSHSGSLOTMI
DE -@o b (h%. BF -804 %1651

b) ABC is a triangle with Z/B=90°, BC=3cmand AB=4cm. D is a point . 4

on AC such that AD =1c¢m and E is the mid point of AB. Join D and E and
extend DE to meet CB at F. Find BF. Z
By - B
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M odel-2

LoTSf efewrr g gy s '
SBITGIT 2019~ 2020 / Model question paper 2019-2020

USSTLD Qugliy - X STD
SeWilFIh - MATHEMATICS

( » . L] . .
_l ﬁﬂ%m Sp / English & Tamil Version)
&TeLD @y : 15 Blid)_ip + 3 LOGY3]) LG HsT 1100
Time allowed : 15 mins + 3 hyg Maximum M“arks '160
Instructions : (1) Check the question -

paper for fairness of printing. If there is any lack of fairness,
pervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

(1) cimveugs SNewndaenin sfuns wdats LHound o eTensm e LIS
FALINF6:514Csmai emeyi. AdalFaller  G@DUIBIIT  Sen;
ST SHTEAI ILTeT L (D o L ax1guwing G\gfleldaaLb.

inform the Hall Sy

uleyenry

(2) Beovd  w16bevgy sy avoufeven " (bOL  GTUPHIUSDGLD i1
Gﬁ”@@@@@@m Lwetii(hss  Geuassi(plb.  LILMAIGET — cuedIISDES,
OlsetTleb LIWGSTLI(h & SaLD.
Note : This question paper contains Jour parts.
GOl : @eiellesngger 1681 & Ligdlsamaend; G516 g).
Li@$) — 1/ PART-I
(Lo 1O IicvTH6iT :14) / ( Marks :14)
GOl : (1) ndflefleh 2 ciren 14 eflewnds@nd@to eflenL werldsayib.
(2) Osn(hsasi’(herer prIE wadHm e Feried Ld?&;@)ﬂ_b Fiflwirreo
alenLewd Caiholsbss GO (b6 e ufleneiuyn  Garigs)
GT(LPSAYLD.
Note : (1) Anwer all the 14 questions 14x1=14

(2) Choose the correct answer from the given four alternatives and write the option-
code and the corresponding answer.

1. f:A— BerahiLig @b @B FmiL oppid n(B)=7eresfle, n(A)pemsy

(@) 7 (b) 49 (o)1 (d 14
If f:A4— Bis a bijective function and if n(B)=17, then n(A) is equal to
(@) 7 (b) 49 (@1 (d) 14

2. A={1,2,3,4,5}-mpg B erhin semisdlvg 1024 2 payser o eirong) craleh B -6b
© GG 2 MLIL|EGIIGH GTETsTaulIdham S | '
(a) 3 (b) 2 NOK. (d) 8
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If there are 1024 relations from a set A={1,2,3,4,5}to a set B, then the number of

elements in B is

(@) 3 (b) 2 (c) 4 (d) 8
. i,l L -]- . 61681 O\ Teuflanaullest 2i1(hdH 2 mILIL]
16°8712°18°
1 1 2 (d) 1
@ () ©)3 81
The next term of the sequence N is
eX PR b
4 16 8 1218
1 1 2 1
— b) — = (D) —
(@), ®) © 3 y
. x' +64-g W uFSELNS LoTHD ASSIL 6T TSNS In L' L Geuctor(hLb?
(a) 4x” (b)16x? (c) 8x? (d) —8x?
Which of the following should be added to make x* + 64 a perfect square?
(a) 4x* (b)16x (c) 8x? (d) —8x?
3
8
. -ZL;_——g a1t GiS\BupmI Canavauudelr eflevd s’ L Lofiy
x°—2x—
(a)8 (b)2 (c) 4 (d) 1
. . . +8
The excluded value of the rational expression H————
x°—2x—8
(a) 8 (b) 2 © 4 (d) 1
- & Gl eI Camevanis auarLIL LD g
(a) CrIGam(h (b) euL b (¢) LigeuemamuwILD (d) Fugeaueanuiy
Graph of a linear polynomial is a
(a) straight line (b) circle (c) parabola (d) hyperbola
. Qb L SHletT 7pLd G (hGsn(hib OlshiGSS1% emLouid @1 1b
(a) eLOWILD (b) Os(hyeirer
(<) pigafias (d) et
. A tangent is perpendicular to the radius at the
(a) centre (b) point of contact (c) infinity (d) chord
(a) 0 .21V E6IT (b) 25 F. 1606
(C) 5& SV GE6IT (d) Qauppleh sTgiayhebanay
The area of a triangle formed by the points (—5,0),(0, —5) and (5,0) is
(a) 0 sq.units (b) 25 sq.units (¢) 5 sq.units (d) none of these

(-5, 0), (0, ~5) woihmib (5,0) bl Lyeremaenan ADLOSSLINHLD (LpdiBesrresm ledr LI
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9. 3x—y=4 L0PYIb Xx+y =8 oy CriCsnBaser &hdsaLb LsiTar

(@ (53) ®) (2,4) © (3.5) @ (4.4)
The point of intersection of 3x — y=4 and x+ y=38is
(a) (5,3) (b)(2.4) ©(3.5) @ (44)
B ol B , 1
10. S5x=sect odmitp — = tanf arafleh, x’ —— e Loy
1
(a) 25 ) | d) 1
. (b) 53 (c) 5 (d)
If 5x =secf and §= tan@, then x* ——lz—is equal to
X X
1
a) 25 b) — d)1
(2) b) ©5 @
sin(90—6)sinf  cos(90—6)cosf
11. o+ =
tan cotf
(a) tan@ (b) 1 (c) —1 (d) sind
sin (90— 6)siné  cos (90—0)cosf
tan6 cot6 :
() tan6 (b) 1 © -1 (8 Fetaid

12.

13.

14.

QoL BT S®S P(h LIGHNLITSS QETeiTL Q@h FnlDLIGHT 2.W(ILD LoHmIh <HJLD
peDBIL  hy SHVGSHET LoPMILD 7, AHVSSHET  HSLD. QL GHeTTL SladT 2 WIILD
opmitd Sl LIGESSS6E AILD DB b, HVGSHET LODDILD T, HGUGSET HGLD.
Goguitd hy 1hy =1:2 eTaulleb, r, : 7 ~60T LOSI LY

(a) 1:3 (b) 1:2 '(0)221 | (d)3:1 : |
The height and radius of the cone of which the frustum is a part are A units and 7 units

repectively. Height of the frustum is #, units and radius of the smaller base is runits. If

h,:h =1:2 then 7, 17 is

(a) 1:3 (b) 1:2 (c) 2:1 @) 3:1
(LPSGD u,ej,gl L1 eTeSsrasailatt oiF S
(8)9 (b) 20 ©27 @
The range of first 10 prime numbers is
(@) 9 (b) 20 (c) 27 (d)5
wpsed 'n' @i cratTsanat Foma)
1
b ) z (02 d
(a) ( 7 (b) > c > ) n
The average of first '7' natural numbers 1s
1
al 2 Ol d
(a) ( 2 ) (b) 2 ¢ > (d) n
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15.

16.

17:

18.

i
L@d- 11/ PART -11
(oL GcTaeT : 24) / ( Marks : 24) |
10 eflerr ds@56@ el welds. aflew erar 28 @ SLLMULDTS ai?mt_wc;;f;asa;mm ;
Answer any 10 questions. Question no. 28 is compulsory. o X ‘ =20
Rerehip  2.may {(x, yy=x"+3,x€ {0.1.2.3, 4,5}} qend Gan(hsLii(heeng,
B &6t LB ILIESBUJLD 0I5 FBHESUILD HTCTT .
A relation Ris given by the set {(x,y)/y =x*+3,x€{0,1,2,3, 4,5}} -
domain and range.
f(x)=x"~1, g(x)=x—2 wopmub go f(a)=1 erafleb a-god HMGTTS.
If f(X):x?‘—l,g(x):x—Z,ﬁnd a if gof(a)=l
@ Fwamiliyd Gengmenisy A, B Adwaee PESTEDOILITEST D] aflevds&HLD
Baipé Saar, Guogid P(A Bavevav) = 0.45, P(AUB)=0.65 crafled P(B)-gpd snesms.

Determine its |

If A and B are mutually exclusive events of a random experiment and o (not A) =045,

P(AUB):0.65 then find P(B).
p(x)=x"-5x—14 eetin LeLILEGET@U®W  g(X) GTETID  LIGHSMILILIS

x—17

CETAULITGE) CUEHSHS
+x+2

sTaniLh e HlevL S8y e1asflev g (x) -gnd snains.

x—17

~ Dividing the polynomial p(x)=x2 —5x—14 by another polynomial q(x) yields 1

19,

20.

21,

Xl

then find q(x) ;

7 =3 |
A=|—5 2 |erafled, (—A) -6i7 Hleavghlyed LomhHm SesHevwtd; sretis.

NER

V-3
If A=|—/5 2 | then find the transpose of —A4.
3 -5

AABC gewgl ADEF -4@ angQanssmar. Gueb BC=30s.f, EF =4Gsib

Lopmid p&Ganewin ABC-uflasr LgriL) = 54 el 2 erasfled, ADEF -ufr LigLieoLié
SI1GBST S

If A4BC is similar to ADEF such that BC = 3cm, EF =4 cm and area of
AABC = 54cm’. Find the area of ADEF .

(sinf,—cost) Lopmid (—sind,cos 0) e16t1 Ljeirafaamen Bavaw d@Lo Grids Gam 19
FTIDGIS HTGESTS.
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23.

24.

25.

26.

2%

28,

find the slope of a line joining the points (sin f,—cos0) and (—sin 9,0059).

2. (193) 16D Lehrafleow Suquinss Qe @etipeg CEmGHTeRT (LpHGHTEST

WU}G’%? 2.GTeNg). Feng WL 6T @6ty TDOLIBSHID FLIa)&GaHnewId  45° GTGuI 6L,
@G Mg LODDILD 2 & e Do &g GasrL 19681 FLOGTLITL GOL & HTGET %,

The hill in the form of a right triangle has its foot at (19,3). The inclination of the hill to the
ground is 45°. Find the equation of the hill joining the foot and top.

x+6,x+12DmIb x + 15 67681 ig8 R OUBSSH CHILl aflensulesr  Q&TLIFS
WITGHT ELPGSTII 2 MILIL|SGIT 616560, x ~G3T Lo IenLId: FH1eisT .

Find x so that x+6, x+12 and x+15are three consecutive terms of a Geometric
progression.,

14+2+4+3++n=666 er6fled, n -6t oL IGDILIS HT1GTT .

If1+2+3+:--4+n=666, then find »

10V3 18 2 wigpeiTenr GCaILjasdlest iquiled(mbss 308 Qpraevalleh Feguileh 2 6iTer
(1 LieTailuedlmigy GanLygddler 2 ¢uis nnSGSIenHamsd HT16HT.

Find the angle of elevation of the top of a tower from a point on the ground, which is 30m

away from the foot of a tower of height 10\3m. |

FLD O WyrkiseaenijeL i B)m G et & FaLDL 566 247h1%6T 1 : 3 6T6bTD @ilblgddleh
o GTena. FalbLysefiest 2wy Sl FalbieT AISH6 eLGHTDI LOLHEISG 6TGufl6Y),
LU ILjSeles afiblBLD ST16TS? |

The ratio of the radii of two right circular cones of same height is 1: 3. Find the ratio of their
curved surface area when the height of each cone is 3 times the radius of the smaller cone?

Q) 1Oeoa (Lp(LpdiseiT p LODDILD g ASNUDE®D p = a’b’ LOHMID g = a’b 616w 6T(LPS
Bwiep)Ld; a, b 6T6dTLIGTT  LISIT cTaT &6  6Tatley, LO.GWIM.Lo.(p,q)x LBGUM.aL(p,q) = pq
eTasId FIAILIMTT&:.

If two positive integers pand ¢ are written as p =a’b’ and g=ab ; a,b are prime

numbers, then verify LCM (p,q )XH CF (P,‘I ) = pPq

24Qs1Bx 22 Qe 1EX 12058 HAGNQGTEN HCITS OFaleus augar mus HeisiodHedl(Hhs
“6Q#.L8 GIIL L SGTRYGITCN AL GBI (h&HGT GTHSET 2_(aUTSSBGUTLD?

Find the number of spherical lead shots, each of diameter 6¢m that can be made from a solid
cuboids of lead having dimensions 24cmx22cmx12cm

L@d)- 111/ PART - IIT
(Lo GetrseT : 50) / ( Marks : 50)

10 e ds@HdS afeoL_werflds. Sl eTadsr 42 -&@ S L muLons efleoL welldsa)Ld
Answer any 10 questions. Question no. 42 is compulsory. 10x5=50
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29.

30.

3L

32.

33.

34,

33.

BIDST @uga BEEed Garddler SnedIfL o 6irpdmLoTeag) LILSSleb asn:_'upqe"!rmuqx
ADLGSLILIL (hGTEN G 6T16uTl6v, 26T (LpHMSHGHT LIFLIL| HTGETS.

In the figure, the quadrilateral swimming pool shown is surrounded by
concrete patio. Find the area of the patio.

Gaevsiv Cammdens e1(1pd) HlemLl.
State and prove Thales theorem.

fX)=x-4,  g(x)=x,  h(x)=3x-5, sTaled
(fog)oh=fo(goh) erend &m (B
If f(x)=x—4, g(x)zxz', h(x)=3x—5 then show that (fog)Oh:fO(goh).

M106)

(i) 67+ x =1(mod 4) er6t1LIBNEG QLITBHSHFLY I GODISLILF LAoS x -gnd: HT68S.
(il) &7és 5x=4(mod6).

(i) Find the least positive value of x such that 67+ x =1(mod4)

(i) Solve 5x=4(mod 6)

@@ Osmalayearer aibas@rds@ 1 e 49wy QsTLiFfunsd &56ievss5LD
aphisliul (hereng). Qepdedlesr  flgng weresTs 26ren  ai(hserle
sFNeVSEHIG6TIG 90l (hFCBTanswnard OFhdledlesr i 1yn@L Tes1s 2 6iren
af(hsatletr sgeflevdshisallssr gl (hd0s1maEsE&dE FLob erafled CFhHledlssr afL (hd
FHEHNNVSHBSHEDSHS> FHIT6ET 5.

The houses of a street are numbered from 1 to 49 . Senthil’s house is numbered such that the
sum of numbers of the houses prior to Senthil’s house is equal to the sum of numbers of the
houses following Senthil’s house. Find Senthil’s house number.

(M BIGwIWLD sl (Lpewp St Li(bEngl. sflwuns Quenh Smeser eavg)

GODBSILFID (1 L Hebavg 2Abss(bds) Qctor(h H®VSET HenL LILIGNETE
BIELDPSHE®CUS: FHTGTTS.

A coin is tossed thrice. Find the probability of getting exactly two heads or atleast one tail or
two consecutive heads.

Qe paIsGaT A whpnd B-wldt @afly snevddd Blevayd Qeuliflew
SHereyser SGLp OEM1(hds i (heTena.

B&JLD A-6t1 Gauliflenev (19 £ Qesvwesiv) | 18 202212426 |
B B-at1 QauriBlanew (19 f) OFevdussiv) | 11| 14 [ 1517 | 18 |

b pEgonagl Oeuliufleey onpn(haefley  fsiome Hleanevg el
Qs %7 |
The temperature of two cities 4 and B in a winter season are given below.
Temperature of city A (in degree Celsius) | 18 | 20 | 22 | 24 | 26

. .L'_l‘gmperaturc of city B (in degree Celsius) [ 11|14 [ 15| 1718
Find which city is more consistent in temperature changes?

|
!
|
I
¢
|
I
!
!
|
F
f
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36, A={x€W/x<2}, B={xeN/1gx§4} oppib C = 1{3,5} erafled

37.

Ax(B UC)=(4x B)u(4x C) erchiLamsd FAlUNF &,
Let A={x€W/x<2}, B={x€N/1§x§4} and C = {3,5}. Verify that
Ax(BUC)=(A><B)U(A><C).

B1SS, SH®S eurent] wufus epaufler Fgmef) auug) 53 HSLD- SSTaTsH el
U, Sbasuilest anubsh eLpasTileh Gp(im LIk LODMILD curiessiufesr auwidled Brctbled
S LG SEWIDHGT 52 Geh 65 AGLD. BTHG ATTGHEHEEG e STSsaeln
gl cunesfluilelr auwengl’t GLiteh Fre@, LoLihig 616360 eLpauiflett HHGLITEDSILI
QUIINSHS FHTGUITSH?

Vani, her father and her grand father have an average age of 53. One half of her grand

father’s age plus one-third of her father’s age plus one-fourth of Vani’s age is 65. Four years
ago if vani’s grandfather was four times as old as vani then how old are they all now?

cos¢ 0 i L.
38. A= , B= s eTasfleh A2 +B* =1 c16ul%h ST (h.
0 cosf 0 sinf
cos@ O mné 0
If A= > 5 D= s " | then show that 4*> +B* =1.
0 cosf 0 sinf| -
39. @ L CamemiiLgd) augalleh 2 6irar o Gonad SHLIGGHT LD 21 QF.i8 LODDILD

40.

41.

DIoEGsTemd  216° @, 'L CaremiGSuiaT <Ihismear Bevewsis s
2 (HeUTSSLILKHLD & LDLIGHT HGT G BTGV
A metallic sheet in the form of a sector of a circle of radius 21cm has central angle of 216°.

The sector is made into a cone by bringing the bounding radii together. Find the volume of

the cone formed.

of @ng ubfdr Gopyphd FbId G dae angaflepd, ELpLiLmid
SiagsCanen augaieid 2 aTeNgl. QoL s sHler e LAseT 5 Q.8 LoHMILD
2 Q&8 %mm, Bo@ bt Gunds 2wgh 7 Qe HFD B(HSSLOTGITE,
&L LbSHlasT LDLILITLIGDUS: HTEETS. '

A shuttle cock used for playing badminton has the shape of a frustum of a cone is mounted

" on a hemisphere. The diameters of the frustum are Scmand 2cm . The height of the entire

shuttle cock is 7cm . Find its external surface area.

Baveowire Bifleh 18 &8/ woewdl Gausdgleb 0lFevaILd e @uIbSTLI UL &TeIS 24 &b
gmgms Bidr Sos e sLIGL Crrses ol Hfler edidlesuiler &L&S
Fa(pgana |LoafIGBLD Caamaulii(bEngl. HileT Geustd Hretors.

A Motor Boat whose speed is 18km/hr in still water takes 1 hour more to go to 24km
upstream than to return downstream to the same spot. Find the speed of the stream.
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42, Spudlufasr o wgld 1.218 HSLD. 88.2.8 2 wWgdHled HaL Lol L o1 STDHDIED B(m
LIuTanas a6 Sauiled BleTmeurmy LMFHSIIer. & Lyerarfluiled  Lisyresilay
ghmsGsnewin 60°. Fmlg Grrddlev Lop@DI(H LjeTeriluiiey Licyrestladt ermmHCGsHres iy
30° 545 GDDENS. Qb BenL Qeuaflufleh LIgYTEHT HLbS SIS HTGTT S
A 1.2mtall girl spots a balloon moving with the wind in a horizontal line at a height of
88.2m from the ground. The angle of elevation of the balloon from the eyes of the girl at an

instant is 60°. After some time the angle of elevation reduces to 30°. Find the distance
travelled by the balloon during the interval.

L@gd)- 1V / PART -1V
(Lo 1G)IGSsT 6T < 16) / (Marks :16)
SLpss1amILD cilendis@nd: @ aflevL welldsaLd.
Answer the following. 2x8=16
43.90) y=x* —5x—6-U06HT UILILLD cuanIhl, AS®GIL LweTL(hdE x*—Sx—14=0
GTGSTID FLOGHTLITL DL HIT&HSH@LD. |
a) Draw the graph of y = x> —5x — 6 and hence solve x* —5x—14=0.
' (OR) (=16b6v5)) _
<) 16x* —24x° +(a—1)x* +(b+1)x +49 616h1L151 (1 Lp(Lp T &SI eTasfled a  LoHMLD
b uSIDMIGHT Lo I BT S FHTCESTS.
b) Find the values of a and b if 16x* —24x° +(a—1)x* +(b+1)x+49 is a perfect square.
44.90) 40518  JoupeTenr  QULLID ueJhg  AST  @LowWSEOBES  110s.8
Caraavallauerer g LeaTaflws @pldég iyarafiledmis L SHns,
Quas(h OB1(hCH1(hFH6IT UM

a) Take a point which is 1lcmaway from the centre of a circle of radius 4cmand draw
two tangents to the circle from that point.

(OR) (=¥6b6evg/)
%) LLHleb |OPR=90°, PS yewig LP -@tr @ msiotaiLLy.
Goguid ST L PRetawfled ST x(PQ+ PR)=PQOx PR 616w Blmyays.
b) In figure |OPR =90°, PS is its bisector. If ST L PR prove that g

STx(PQ+ PR)=PQxPR _ /v\
] Q
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LonShfl eflesggmer 2019- 2020 / Model question paper 2019-2020

—_—

LiSSTLD QU&GLIL) - X STD
860011510 - MATHEMATICS
(h1feviDd LoDmILd HLBp / English & Tamil Version)

7LD HETa) :

Time allowed :

i

IS BB 1D + 3 1pewsh)
15 mins + 3 hrs

oSO sssTEeT 100
Maximum Marks :100

Instructions :

2mleyenry :

Note :
GOl :

GOl :

Note :

(1) ,CheCk the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

(1) 1weds oflenndsenn sfuns wdals uband 2 6TenEST CTHILIDS
FiluniggisOsnearenayn.  <idsiubales  GS@DUIGBLLIGT oD
SETHTGIIITHL LD 9 1_ewguinss QgiflalldsayLp.

(2) Feuld  icheaugy &l aioufeen oL (hGLD  GTUPHIUSDESGLD Sigs
Canyhausn@o Lweiu(hss Gauaa(hld. LILMKISET UDTISNS
GlLIsTAG) LiwsesTLI(hdHaLD.

This question paper contains _four parts.

Qelallesindsner pichiE LGSsmand; QasneiorL g.

L@$ — 1/ PART-I
(Lo 1O)LIGESTH6TT = 14) / ( Marks :14)

(1) @uidfledev 2 crem 14 6XlesTdsEhdh@GHLD alleanL wiafldEsaLD.

(2) QaEn(pssli(heTar mIeIE omHm eflenLFafley hsayd  Filwmes
oL awd Casihoshds @GO (bLer ol uflenestyd Gxids
GT(LPSH@|LD.

(1) Anwer all the 14 questions 14x1=14

(2) Choose the correct answer from the given four alternatives and write the option
code and the corresponding answer.

1 ={a,.b,p},B={2,3},C——' {p,q,r,S}GTGDﬂGi) n[(AUC)xB]c‘gmgj

(a) 8

(b) 20 (c) 12 (d) 16

A={'a’b’p}’B.—_{2,3},C={p,q,r,s}then n|(AUC)x Blis

(a) 8

(b) 20 (c) 12 (d) 16

2. f(x)=(~1) erabrigy N-aSlphgl L5@ ewegumidsii (hereng), erafldd f -air

FFFSHLD

@ {1}

(b) N © {L-1} @ Z
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Given f(x)=(—1)"is a function from N to Z . Then the range of fis

() {1} (b) N ©{1,—1} d Z
(P22 4324 4187) = (14 243+ +15) -ty LoglLany
(a) 14400 (b) 14200 (c) 14280 (d) 14520
The value of (12+22+32-!—--'+152)—(1+2+3+---+15)is
(a) 14400 (b) 14200 (c) 14280 (d) 14520
. 244464+ 2k =90, 6Teafle k687 LOSIIL)
(a) 8 (b)9 (c) 10 (d) 11
If 24+4+46+4---+2k =90, then the value of kis
(a) 8 (b)9 (c) 10 (d) 11

. 8y =4x+21 er6tim CridGamL 196t FLOGTLITL L9 NG SLDSETL umpmleh 678/ 2 GHsTanLD?
(a) #miay 0-5 Hmid-y - Gleul’(hdgiessi(h 2.6

(b) &mitay 5 LoPMILD y - Cleur’ (hggiesar(h 1.6

(c) #miay 0-5 opmib y - Gleur' (hsgiass(h 1.6

(d) #nuiay 5 wHMID y - Cleu (hdgesn(h 2.6

A straight line has equation 8y = 4x+ 21. Which of the following is true?

(a) The slopeis 0-5 and the y - intercept is 2.6 '

(b) The slope is 5 and the y - intercept is 1.6

(c) Theslopeis 0-5 and the y - intercept is 1.6

(d) The slope is 5 and the y - intercept is 2.6

. 6x7y,9x%yz,12x*y*z Fhweummilest LO.6G)LiT.o

(a)36x°z* (b) 36x*y*z (c) 36x*y*z? (d) 3x*y
GCD of 6x*y,9x’yz,12x*y*z is
(a)36x°z* (b) 36x%y*z . (c) 36x*y’z? (d) 3x%y '

. AABC -6V, DE || BC,AB = 3‘.6 cm, AC = 2.4 GlFLb, wHmitd AD = 216005, e165fled AE -t
Bertb

(@) 1.4Q&.8 (b)1.8Qs.8 (120588 (d) 1.050s8
In AABC,DE| BC, AB=3.6cm, AC=2.4cm, AD =2.1cm, then the length of AE is
(a) 1.4cm (b) 1.8cm () 1.2cm (d) 1.05cm

. (12,3),(4, a) eratrp LyeireNsener @avew @i s’ gatr Fniiay %_ﬂ@ﬂ!&i}, a-Gir Loy
(@) ! (b) 4 () =5 @ 2

The slope of the line joining (12,3),(4,a) is %, o vallus o a i

(@)l (b) 4 (©) =5 (d)2

108
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9.

10.

11.

12,

13.

14.

(2.1) -& QU GLb erefumsd Qareim. @y Gy GanGaar
(a) x—y—3=0;3x—y—_7=0 (b) x+y=3;3x+y=7
(©) 3x+y=3; x+y=7 (d) x+3y—3=0; x—y—7=0

(2, 1) is the point of intersection of two lines

(@) x=y—=3=0;3x—y—-7=0 (b) x+y=3;3x+y="7
©3x+y=3; x+y=7 d) x+3y—3=0; x—y—7=0
tan fcosec’d —tan6 - 637 Lo’

(a)sect (b) cot* 8 (c) sinf (d) cot?
tan fcosec’d — tan @ is equal to |

(2)secd (b) cot? 6 (c) sind (d) cott

R A®IHCHNSHT Qondsls Ll AT HISSDIDLUL QU SSSBGT
6T1HHEDGUT LDL [hIHBTEHLD?

(@) (b) 47 (c) 3w (d) 27

The total surface area of a hemisphere is how much times the square of its radius?
(@) T b) 4 (©) 3n | (d) 2
367 Qa18® F6o Henay CsTeTL Gp(h CHTEMSSIGH HILD,

() 3Q&L8 (b) 2Q&18 (c)5Q5L8 (d) 10Q&L8
If the volume of sphere is 36rcm’, then its radius is equal to

(a) 3cm (b) 2cm (¢) Scm (d) 10cm
8,888 ....8 ASw syaier afda

(a)0 (b) 1 | (©)8 (d3

The range of the data 8,8,8,8 ...,8 is 7

(a) 0 (b1 (c) 8 (d)3

ypde  aupssisalanks  @F Twdsl  swamilin  papuld  Gsrel
OrutIGEDg. DbS TWSS ¥-46@ PhdSU  erpdgisafisy  REHDITS
QUBLILISDSHTEHT hlBLDSH5E)

12 1 23 3
(a) = (b) o (c) — (d) =
If a letter is chosen at random from the english alphabets, then the probability that the letter
chosen precedes x
3

12 i 23
(a) E (b) 13 (c) 26 (d) %
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15.

16.

17.

18.

19.

20.

21. x

22

@S- 11/ PART - 11
(o OLicdsaer : 24) / (Marks : 24)
10 el &:&(EMd:S eileoL walds. afle erevor 28 4@ L L MULOITE oL werlldaayy,

Answer any 10 questions. Question no. 28 is compulsory. 10x2 =y

f:N = Netewp gnjuneng) f(x)=3x+2,x€Nerew aueTwmISSLILIbEDS a1l

29 LoPMILD 53 -G (LPGHT 2_(hH @GN FHTEGTITS.
Let fbe a function f:N— Ndefined by f(x)=3x+2,xe N. Find the pre-images o

29,53,
Tx5X3%2+3 GIGHLIGI G(Ih LIG 6TGuuIeuulT? 2.6/ aflenL et Bwumulii(hdgis.

Is 7x5x3x2+3,acomposite number? Justify your answer.

34+ k,18—k,5k+1 eTad1LIeNG (B Fn L (bSOISTLIT auflevFulle 2_6iTenes 6Tesfled k -6ir
LOFNIL| HTGHTS. '

If 3+k,18—k,5k+1 are in A.P, then find £.

P+2°+3 +--- 4k’ =16900, erarfleb, 14243+ + k-6 Lo L) H1ctars.

If P+2°+3° 4+ +k>=16900, then find 14+2+3+---+k

7 8 6 4 11 -3
A=|1 3 9|,B=|-1 2 4| crehled, 24 + B -Slenesid SH16851%.

—4 3 -1 7 5 0

7 8 6 4 11 -3
Ifd=1 3 9|,B=|-1 2 4| thenfind 24+B

-4 3 -1 7T & ¥
CLoUICWIGHT ST eLpeUEIEaTTSd: GBIt 3x” + kx+81= 0 6T6bTD) FLOGTLITL 19GHT G(1b
eLpauLD LopOIDIT(Th eLPEVSEIGHT GU[TSBLD 6T6aNav, k ~ulGht Lol 1L STeveT .
If one root of the equation 3x’ + kx+81=0 (having real roots) is the square of the other,
then find £.

2 2 ¢
_ @34 pmnp y=9F2978 gafla, x'y?-a i sncts.

If x= — —and y=—"""""_ find the value of x*y~°.

Qan(pssiin’(beren LGS AD erehiugy |BAC-a1 @pwo Gauligun@id.
AB=IOG78‘I-5, AC =140Q58 LoHmyLD BC = 60&8 ctasfléy BD LD[DQ_IUJ DC"QC%

HTGUT .

;
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23.

24.

25.

26.

27,

28.

£9;

In the above figure 4D iq fhie i ,
€ bisector of |B ;
find BDand DC. w* if AB=10cm, AC =14cm and BC =6cm

FILIR) 1-208 Q\Betas (o o -
& 1-g04 O)smags (B!_T)U&Gc%m_‘_m&? Fiidieyd Gasmesib creian?

P 60° @nés5sGanamsde snaadpmy cTefled BLLgL
& EE)D ]

@_ S LibElneih B Gwuyeiren Qsmencvepad sreinas (V3 =1.732).

A player sitting on the top of a

4 tower of height 20 m, observes the angle of depression of a
ball | o = ’ e i

all 1ying on the ground as 60° Find the distance between the foot of the tower and the ball
(V3 =1.732).

SliLoGtsT QEnet(® Qe 24 OlF.L5 o wyepeTen (b FnlbedLl Q(H GLLHDS
0GB AT LpeTeT Q1R 2-B@Twns LonHpEing e1esley 2 (Henaruiler 2 wigLD 6165162

A cone of height 24.cm is made up of modelling clay. A child reshapes it in the form of a
cylinder of same radius as cone. Find the height of the cylinder.

RO FoamiLiLE Gengmenies @m Haypds) Aees. @G P(4):P(4)=17:15
LODMILD n(S) = 6406Tasflah P(E) -85 FHT6CHT . '

If 4 1s an event of a random exberiment such that P(A4): P(E) =17:15 and n(S)= 640then
find P(g)

& Ljeirer] efleugmisafletr Fgnafluneng 25.6 Lopmitd et LTI (hd C\H(LpauTesg)
18.75 616860, 21565 S L NleVSESHMES HTCTTH. ‘

The mean of a data is 25.6 and its coefficient of variation is 18.75. Find the standard
deviation.

3x—5y4+7=0 Hmb 15x+9y+4=0 AW CriaCan(haer eeimisCsTan

QFhiIGSSI 6160 HIMIGY S
Show that the straight lines 3x -5y +7=0 and 15x+9y+4 =0 are perpendicular,

LIgd- 111/ PART - 111
(oG LickTSET : 50) / ( Marks :50)
10 ai?surne’la';as@é;@ oL wWands. e eTelT 42 -d@ 1L muLons aflevLwerfldsayLb
Answer any 10 questions. Question no. 42 is compulsery. 10 x5 =50
,‘4 =f1,98; 4} opmitd B= {2,5,8,1 1,14} eT6b1LIGY @)% B HISGT GT6HSE. f: A — B
s1amyib sy f (x)=3x—1 ereud; Qan(h &I (heiTeng). @dFmienes
(i) éﬂbué@,ﬁ LILLD | (i) 2L’ L cuaneuwt
(iif) cuflans G&F Ly BalasT SH6usILD (iv) euguIL 1D HHweupmied Gmlsas.
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30.

31,

32

33.

34.

35.

36.

. 4 — B be a function g;j
Let 4={1,2,3,4} and B={2,58,11,14} be two sets. Let f: 4 Biveny,
& (I) =3x—1. Represent this function

(i) by arrow diagram (i) in a table ff)rm
(iii) as a set of ordered pairs (iv) in a graphical form | o |
LeluTitiny efleneuier snrewLons t afleunig sefleb e GILIM(BET HLHGHLD SlMLoneyg,

s(t)= ‘;'gf *tat+b arans Qan(pesiiu Gererg (gneaig Lauiliy cllenaygg,

snyewions epbio wpGEsonED), @G a.baduamar wipledlsd. st )c?!m@
PG DI S0\E TSI G SFITTLITEHLOM 6TGH 4TI % R
An object travels under the influence of gravity in time seconds 1is given by

s(t ):*ng *+at+b, where (g is the acceleration due to gravity), a,b are the constants

Check if the function s(t)is one-one.

A={xEW/0<x<5},3={x6W/O§x_<_2},C={xEW/x<3} 1))
AX(BNC)=(AxB)N(4xC) s¢ sflmiss.

Let A:{er/oéKs},B:{xeW/nggz},c:{er/xd} then verify that
Ax(Bnc)z(AxB)n(Axc).

3+6+12+4..-4+1536 61681 Gl d:&S QB et I (b6 HT68TS.
Find the sum of the geometric series 3 + 6+12+---4+1536.

9 =46b m@u@m NGV GG eLpatTBlevds Buwieh e1atsrselehr In(h6b ST
Find the sum of all 3 digit natural numbers which are divisible by 9
4x’ o 20x el = 30y — 9_y_ 616510 GHrenauuissr UTSHELPGULD FT6HsTa
y y X x
2
Find the square root of the expression f—— + 20z 13 30y A 2
y oy x X

MPTIPIE . 5x+7 '
TSI LY TSd) wpanmuieh j_] =3x+2 er6trp FLOGHTLITL 19687 $ifey Setsrs,

Solve the quadratic equation by completing the square method X+
=

=3x+2

17
529 i
[1 2 8] E=1 2 mﬁﬂm - (4B) =B"4" eréirLiang, Fiflumdgayin

5
5 2 9 :
If 4 = [ ,verify that (AB)T =BT 4T

Scanned by CamScanner



7.

38.

39.

40.

41.

42,

OFEIGH 1658 : A
7l - : WPECH 16w S ftr sewiin, Al LsssHer @ Lkims il 6LOLLT
S50 CQID  epsiprarg) s

. . £y s LTeg siemdms oL 2BLLT @opay oTeiled
@5G&WW§>@W.U<§;5@£@W& . S ST HDS &

GVuT .
The hypotenuse of a right trian

<2 gle is 6 m more than twice of the shortest side. If the third side

m less than the hypotenuse, find the sides of the triangle.

Tx=3y=—120001b 2y=x43 wfu GriGsnGedr FHEEGD LeTefewiLd
3x+y+2=0 oMb x—2y_ 4 0w CriGan(paer FhHa@d LaraflenwLd
Qlenawti & Ld CriGsnL g ehr FLOGHTLITL DL & HT6ET .

Find the equation of a straight line joining the point of intersection of 3x+y+2=0 and
x—2y—4=0 to the point of intersection of 7x—3y=—12and 2y =x+3.

ﬁsin@——cos@= 0 eTeaflel, tan 39 — 3tanf—tan’ 6

GTGUT L9,

1—3tan’6 e

If /35in6—cosf =0, then show that tan 3 — 3206 —tan" ¢
1—3tan’ @

fgsnemend Qanes(y 716 yyapn 2415 2wyeph 2@LW @ Falbl] QGRS Fal MJLD
2 (KU dsLILGEDS. OFaicus angar Hasnefer sisein 4 L5 cTerileh SISCT HeNTLD HTCTTS.
The radius of a conical tent is 7m and the height is 24 m. Calculate the length of the canvas
used to make the tent. If the width of the rectangular canvas is 4m.

52 ?L‘G&Gir Osmai £ (haaL 1960 mig @b FLG abssibIeang. Sibs £L(»6 Qunen
QIchevg apriL eheug SHeuliy Bips FLLns QBLILGDHSTE BIELDSEHECS: HTGHIH.

A card is drawn from a pack of 52cards. Find the probability of getting a king or a heart or a
red card. ‘

18,20,15,12,25 Swauppletr onpiint’(hé QB (LpDRUS HTETTS.
Find the co-efficient of variation of the data 18,20,15,12,25.
L&~ 1V / PART -1V
(oL ELGTEET : 16) / (Marks :16)
Lipds1eni IITSHEGSS afleLwerfldsajLb.
Answer the following. 2x8=16

43.9) y=2x* —3x—5-6HT QUEMTLILLD aweghgl gLl LweL(hdd 2x* —4x—6=0

a)

24)

GTGHTD FLOGHTLIMTL DL G B7&EaLD.
Draw the graph of y = 2x* —3x—5and hence solve 2x* —4x—6=0.
(OR) (S¥6bevgy/)

1 2 __ 4 x41=0,x+2=0 wopmud x+4=0 -g @pLugd

x+1+x+2'x+4 et
it 1967 BdHTdost LGS Sibs.
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b) Solve the equation 1 & .. ,where x+1=0,x+2=0 and
x+1 x4+2 x+4

x+4 =0 using quadratic formula.

44.21) PO =8 Q#1B, |[R=60", 2.48) R eSmibgy PO & euevgwii’ L 55 G 1gss Henh
RG = 5.8 GlFL5 a1 @@ Lonmy APQR auangs. ReOmpg PO @ UeIWLILILL
&SBIFHCHTL 196 BeTLd Feturs.

a) Construct a APQORin which PQ=gcm, |R=60"and the median RG from Rto PQis
5.8cm. Find the length of the altitude from R to PQ.

(OR) (16bavg))

2) Ganew @ pFobleu’ty Gupma S LOMIHEGUEILI 6T(Lh) (6)mics.
b) State and prove converse of angle bisector theoren.
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